s C
O O
og sbue X S
ljog E@F@EA. P
\ G 0
* O 0§ s
&S 1=00L L=-€S1L-004
ieysep g wwg e 8 Jeysep L Wwg
1j0g X8 O9XGIN 1Og XeH 09XGIA

COCH



Mounting Instructions for BMW 850 Skidplate
GS & Adventure Models

1. First remove the stock skidplate but leave the OEM mounting brackets in place. If your bike is an
Adventure model remove the lower forward crash bar mounting bolts.

2. Now attach the skidplate to the 4 stock mounting points with the M6x16 Flange Hex bolts (gold).
Leave these a little bit loose at this time.

3. Install the front mounts using the appropriate spacer, bolt and washer on the placement chart. Leave

these a little loose as well.

4. Now tighten the 4 bottom bolts first then the side bolts.

5. Go riding!

Hardware for GS model

M8x80 Hex

M8x60 Hex

2) 8mm HD washers

700-153-1 spacer (short, use with 8x60 hex)
700-153-2 spacer (long, use with 8x80 hex)
4) M6x16 Flange Hex

Hardware for Adventure model

M8x60 Hex

M8x80 Hex

2) 8mm HD washers

700-110 spacer (short, use with 8x60 hex)
700-152-2 spacer (long, use with 8x80 hex)
4) M6X16 Flange Hex



